
DEFENSIVE AND COMPETITIVE BIDDING 

OVERCALLS (Style: Responses: 1 / 2 Level; Reopening) 

1 -level 8 -16 , 2- level 12-17  

 

Resp : NS = F1, CUE = 9+ FIT OR BAL FG 

 1NT = 6-12 , 2NT = 13-14 

Jump NS by PH = FSJ 

1NT OVERCALL (2nd/4th Live; Responses; Reopening) 

15-17/18; Resp: SYS ON; GOOD 14 OK 

Balancing NT – 11-15 on 1m & 11-17 om 1M 

  On Bal NT – 2C = Ranage ask , rest system on  

2NT OC = 15-17/18 Muppet  

JUMP OVERCALLS (Style; Responses; Unusual NT) 

Weak wide-ranging 

Over PRE: 

(2M) 4C = C + OM , (2M) 4D = D + OM 

Reopen: 

DIRECT & JUMP CUE BIDS (Style; Response; Reopen) 

v/s (1M): 2M= OM+m ; 2NT=m+m 

v/s (1m): 2m= M+M 5H+4S OK; 

v/s (2M): 3M= m+m; 4C=C+OM; 4D=D+OM 

v/s (2m): 3m= M+M; 

VS. NT (vs. Strong/Weak; Reopening;PH) 

Vs STR = DBL = m + M , 2C = H+S , 2D = LONG M 

2H = H + m , 2S = S+ m , 2NT = m+m ,3C = C  

3D= D ,3H= H ,3S=S ,4M= to play 

VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids) 

X= T/O thru 4H; LM over (2M/2m); (4M)-4NT= m+m; 

v/s (2M): 3M= m+m; 4C=C+OM; 4D=D+OM 

v/s (2m): 3m= M+M; 

VS. ARTIFICIAL STRONG OPENINGS- i.e. 1 

X= M+M; NT= m+m; JOC= Weak wide ranging; 

Same on ( 1C ) - P - ( 1D ) 

OVER OPPONENTS’ TAKEOUT DOUBLE 

1M-(Dbl)-2NT= Jordan; Rdbl= 10+ ; 3X = FIT 

1M -(dbl) – TRF 1NT=C: 2C=2D:  2D=H: 2H=S 

1under M= good raise: 2M= bad raise, 3M PRE 

 

LEADS AND SIGNALS 

OPENING LEADS STYLE 

 Lead In Partner’s Suit 

Suit 3rd/5th Situational 

NT 4th  

Subseq   

Other:1. Low from xxx 

LEADS 

Lead Vs. Suit Vs. NT 

Ace AKx(+) / Ax; U/B or COUNT 

King KQx(+) / Kx / KQT9 KQJx / KQTx; 

Queen QJ / QJx(+) KQT9, QJ10(+) / U/B or 

Jack JTx / HJT(+) / Jx JT9x / HJT(+) 

10 HT9x(+) / Tx HT9x(+) / T98x 

9   

Hi-X   

Lo-X   

SIGNALS IN ORDER OF PRIORITY 

 Partner’s Lead Declarer’s 

Lead 

Discarding 

Suit 1 ATT COUNT ATT 

2 COUNT   

3 SUIT PREF   

NT 1 ATT COUNT  

2 COUNT   

3    

Signals (including Trumps):  

SMITH ECHO , DOUBLES 

 

TAKEOUT DOUBLES (Style; Responses; Reopening) 

Classical 4441/4405 10+, otherwise 12+ w/ 4432 or 17+ any; 

Resp: best suit responses; Jump= 8-10/11; 

CUE= 12+ 

 

SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS 

SUPP X below 2S, NEG DBL , G/T DBL after our 1M 

 
 

 

W B F CONVENTION CARD 

CATEGORY:  BLUE  

 
NCBO: INDIA 

 

PLAYERS:  MARIANNE  K  -  ADITI  J 
                   400549     -   401572 

 
EVENT: ALL 

SYSTEM SUMMARY 

GENERAL APPROACH AND STYLE 

1C = 16+ bal, 17+Any; 

1D = 1+D 11-17; 

5 card M with SEMI-FORCING 1NT; 

2C = 5C +4M or 6+C 11-17 

2M = WK, Wide range style; 3m/M = WK 7/6cards, 

 2NT = 20 – 21 4M = PRE 

1NT = NV 11-13, VUL 14-15 may be unbal 

2 OVER 1 Response: FG,1D – 2H= H+S 6-8,  1D – 2S= H+S 9-11 

SPECIAL BIDS THAT MAY REQUIRE DEFENSE 

2D = H+S 3-8/9 

3NT = 1ST & 2ND Seat GAMBLING , 3RD & 4TH Seat TO PLAY  

4NT = ACE ASK  

 

 

 

SPECIAL FORCING PASS SEQUENCES 

 

 

IMPORTANT NOTES 

 

 

PSYCHICS: RARE 
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DESCRIPTION 

 
RESPONSE  

 
SUBSEQUENT ACTION 

 
COMPETITIVE & PASSED 

HAND BIDDING 

1C 
Y 

0 4D 16+ BAL 17+ Any 1D= 0-7/8; 1M=8+ hcp;2m= 8+ hcp 5+X; 

1NT= 8-13 ; 2NT= 14 + BAL; 

2H=5S+4H 6-8; 2S=5S+4H 9-11; 

3m/M= 5 - 7hcp 6X; 

1C-1D-1H =  H or bal hand 

1C-1D -2M/m 22+ 

1C-1NT: 2C=Relay; 

1C-1D-3NT= TO PLAY 

 

1D Y 1 4H 11-17 1M= 4+M gen F1; 

1NT= 6-11; 2NT= INV 11-12; 3NT= TO PLAY 

2H=5S+4H 6-8; 2S=5S+4H 9-11; 

2m= FG; 3C= INV; 3M= PRE 

XYZ over 1D-1M-1NT;  

1H 
 

5 4H 11-17 1NT=semi-forcing; 2H= 7-9 ; 2NT= Jacoby ; 2m= FG         

2S= any singl 4card supp 9-11 or 15+ ; 3H= Mixed Raise; 

3S=any void 12+ 3NT = spade singl 12+ ; 4m/M =SPL 

 

XYZ over 1H-1S-1NT; 2C/D= Drury4H/3H fit; 

1S  

 

 

5 4H 11-17 1NT=semi-forcing; 2m/H= FG; 2S= 7-10; ; 2NT= Jacoby 

3H = singl ; 3S= Mixed Raise ; 3C minor singl 4card supp 

9-11 or 15+; 3NT= any void ; 4m/H= SPL; 

 
2C/D= Drury4S/3S fit 

1NT  
  Variable  - MAY BE UNBAL Stayman, Trf, Smollen 

 After 2C-2D 2H is P/C ,  TRF + NS = FG 
 

2C  5 4H 11-15 5C+4M or 6C 2D=(R); 2NT = PUP TO 3C, 3C TRF TO 3D; 

3D TRF H 6X slam/weak,3H TRF TO S 6Xslam/weak,    
3S = 6S + 4H INV , 4C = preemptive  

2M= NAT F1; 3NT/4M= to play; 

Relay does not promise strength if C fit;  2D is relay 

 2M 
2NT is natural 

2D Y 0 
   PRE-BOTH M+M 3-8 2NT=(R); NS = F1,    

2H 
 6(5)  Weak 6+H 2NT( R)   

NS = F1 ; 3/4H = to play  

  

2S 
 6(5)  Weak 6+S 2NT( R)  

NS = F1 ; 3/4S = to play  

  

2NT 
   20- 21 MAYBE UNBAL MUPPET STAYMAN , TRF , 3S = 3NT   

3C/D 
 7(6)  PRE NS= F1;   

3H/S 
 7(6)  PRE NS= F1;   

3NT 
Y   GAMBLING, 3rd & 4th seat to play 4C= P/C; 5C = P/C   

4C/D 
Y 8(7)  Pre     

4NT  
Y   ACE ASKING   RKCB 0314   

5C/D 
 8(7)     Weak      

 
    HIGH LEVEL BIDDING 

 RKCB (0314); 5NT= 2 with void; 6C/D/H= ODD with void; cue bids 1st/2nd Ctr Up the line, 
 

    


